UM epyaociag 2 - EVSELKTLKEG ATIAVTIOELG

Aoknon 2": A=5, B=7 kai'=-3

V) ((A>B)KAI(FT<A))H(IF>5)
((5>7)KAI(-3<5))H(-3>5)
(WKAIA)HW =

WHWY =

y

8) (OXI(A<>B))KAI(B+lT<>2*A) =
(OXI(5<>7))KAI(7+(-3)<>2*5) =
(OXI(5<>7))KAI(4<>10) =
(OXIA)KAI A =

W KAIA =

U

Aoknon 3":
1) Y>=1.70
2) B>18
3) EM ="MNaradomouAoc"
4) Z1o)0¢ = AANBNG
5) NavPekop100u =10.11

N N’ N’ N

Aoknon 4":

1) xmod 2=0KAlzmod 2<>0
2) xmod 4 =0 KAly mod 5<>0
3) x=y KAl y=z
4) BaB >=1 KAI BaB <= 10
5) BA<5HBA>10

Aoknon 4":
1) Ov ="Twpyo¢" 'H Ov = "Kwotacg" 'H Ov = "Ttavvng"
2) At ="NAI"H Amr="[2Qx"
3) Emt>="T'pnyopLadng" KAI Ett >= "Metahdg"
4) Em <> "MamavikoAaou" KAl Ett > "Aouéng"
5) Kwéd >="A" KAl Kwd < "A"



